1450

8 THK BACK PLATE MK GB52 8 THK FRONT PLATE MK GB53
] ] 5.2M L
[P I R —— R — Y
Aha Aiha 2 M16 x 40 BOLTS
¢ ¢ ¢ % 2x2 M16 x 130 STUDS
=\ 3 == == T 5 CW 2 No NUTS & SCSW EACH
NP K
TN 5
N\
. = 5
M/ & 3
¢\ /< X
V// / b S
N\ Va % %)
o\ \ VaVs: I
3 \\ J /G S
) NN VA / rM >
= NN J ) Q
S AR 7/ =) o
2 NN V4 g g
@ AN 7/
e~—/
. N A .
4 N G4 7, P 7 S
+ e | ./ | + <
YA YAl 2 M16 x 40 BOLTS
> e s | 7 / ks 2x2 M16x 130 STUDS
K =] < - K CW 2 No NUTS & SCSW EACH
\\\&WN//me//\f ¢
7/ < \
e yavs NN L
. Yaya AN - .
[ y v NN Bl
| e yavs AN @
[ g/ AR ]
% Va4 NN By
¢ 7/ N & |
L@ 7/ N\ e
\\ S/ // TYPICAL SIDE ELEVATION
/ \
Va / ////
yays AR
\\\ NN
/ AN
\\\ e /7@///
A\
=/ | | \x
s e
= [ =
HW W&
f f
| FRONT ELEVATION L,
L
ANY FACE TYPICAL PLAN
300mm DISH MOUNTING POLES.
STAMP "TOP" THIS END.
- o 156 88
8
| 1L 25 116 25 0| 50 20
10 136 10
100 3
9_’ N
A N N
= 25| . 50 25 S @ u@ S S !
[t} 7 X o o T
: . o 3 m SR
X © ~ - [N =)
® = 8
o 2]
S I
: g 00 ¢ \$ .
x ~ % A U
[N ™
= } @ 6mm FILLET WELD ALL ROUND
< N /
7 FRONT ELEVATION SIDE ELEVATION
6mm FILLET WELD ALL ROUND
2No 17.5@ HOLES w
120 x 100 x 8 THK PLATE. . B I ,9,
I 9 |
8 PLAN ¥ , @ | @ s
f=3
| N © g
10 %ﬁ 21121 %,T 10
156
SIDE ELEVATION FRONT ELEVATION PLAN

6 No 17.5 @ x 18 SLOTTED HOLES

POLE MOUNT MK GB51 - 2 No THUS. FRONT PLATE MK GB53 - 4 No THUS

DELTA OBSTRUCTION LIGHT /ﬁ E—
|
, 11.3M

GENERAL NOTES.

1. DO NOT SCALE THIS DRAWING.

1 ,“
Lo | | 2. ALL DIMENSIONS ARE IN mm UNLESS OTHERWISE SPECIFIED
fee23 R & I & & & ' !
3M16 x 40 BOLTS [
@ B s @ 3. THIS DRAWING TO BE READ IN CONJUNCTION WITH DRG
L Nos 12599 /L/100, & 101.
Ly -
—— /W Lf B STEELWORK:
4) ALL MATERIAL TO BE GRADE S275J0 TO BS EN 10025.
FRONT ELEVATION SIDE ELEVATION
AT TOP OF SPINE AT TOP OF SPINE 5) THERMAL CUTTING OF HOLES NOT TO BE USED.
6) ALL WELDING TO BE CARRIED OUT IN ACCORDANCE
WITH BS EN1011-2 : 2001 AND BS EN 288 BY AN
APPROVED WELDER CONFORMING TO THE
REQUIREMENTS OF BS EN 287, PART 1
7) HOLES TO BE 1.5mm LARGER THAN BOLTS.
8) ALL STEEL AND BOLTS TO BE HOT DIPPED GALVANISED
TO BS EN ISO 1461
9) ALL BOLTS TO BE GRADE 8.8 IN COMPLIENCE WITH
BS 4190 AND SUPPLIED WITH RECTANGULAR SECTION
= ——r SINGLE COIL SPRING WASHERS TO BS 4320 UNLESS
wk\ /Jﬂﬂ NOTED OTHERWISE.
THK SUPPORT.
mp ATE MK GB 55 / | 10) REFER TO MATERIAL LIST 12599/MGB2 AND BOLT LIST 12599/BGB1.
. X 3 M6 FIXING BOLTS
N, ON 240 PCD.
PLAN 167.5 167.5
64 222
335 | " ©
S ! ¥ -
© ——
425 250 425 S ~J
N 3 3
86 6 151 6 86 /
j=) o
™ | -~
% |
= = N8 /
° o 6 147 110
T @ / H
[l -
e
.
& — | 3No85@HOLES on
3No 17.5 @ x 18 SLOTTED HOLES 7 ON 140 PCD SIDE ELEVATI
FRONT ELEVATION 1425 | 50 | 1425
PLAN
335 x 390 x 6 THK BENT PLATE.
AOL MOUNT PLATE MK GB55 - 1 No THUS
o
N
A | 15/08/12 MW CONSTRUCTION ISSUE Mw
06/08/12 |MW PRELIMINARY ISSUE MW
156 Rev| Date  |By Chkd
25 116 25
5 MW Structures

210
144

& 8

@
el

4 No 17.5 @ x 18 SLOTTED HOLES

210 x 156 x 8 THK PLATE.

BACK PLATE MK GB52 - 4 No THUS

BOLT LIST
M16 x 40 11 No
M16 x 130 STUDS 16 No

Telecommunication Design & Management

Tempest Mews, Broughton Hall Business Park, Broughton,
Skipton, North Yorkshire, BD23 3AE

Telephone : +44 (0) 1756 700 942

Project - ARQIVA - GIBRALTAR DTT & DAB TOWER

Title
DETAILS OF DISH MOUNTS &

AOL MOUNTING PLATE
Scale NTS Drawn by
RC
Date Checked by \\ N@@@\P\ﬂ \\ Q\D
20.07.12 MDW




